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Prototype I4Sn

AFLOW prototype label A4B cP40 205 cd c-001

ICSD 38140

Pearson symbol cP40

Space group number 205

Space group symbol Pa3

AFLOW prototype command aflow --proto=A4B_cP40_205_cd_c-001

--params=a, x1, x2, x3, y3, z3

Other compounds with this structure
SiI4, TiBr4, TiI4, Ni(CO)4
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Simple Cubic primitive vectors

a1 = a x̂

a2 = a ŷ

a3 = a ẑ

Basis vectors

Lattice
coordinates

Cartesian
coordinates

Wyckoff
position

Atom
type

B1 = x1 a1 + x1 a2 + x1 a3 = ax1 x̂ + ax1 ŷ + ax1 ẑ (8c) I I
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ẑ (8c) Sn I

B12 =
(
x2 + 1

2

)
a1−

(
x2 − 1

2

)
a2−x2 a3 = a

(
x2 + 1

2

)
x̂− a

(
x2 − 1

2

)
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ŷ − a

(
z3 − 1

2

)
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